RGBT 2 B OB RERERAERR (1 271 8 HEH)

SR 2 7T4E1 2 A

FZRE DI RE R
T JE [Ba (RZ7 1) kel
R A #H e
PRI s (FE ) TR Erere B
134 137
HEIEHY &9 N dan] N J 1y
11A2 0 | 1142 H \ ‘
(FiAIR) (1. 5 Ba/ke Ai) | (1. 2 Balke AK:iii) | fEEZE 2HFFERT
I URA I T
¥ . = B Eal|=]
- HH2GH4%§;L&%i§fi;i R TR | e
- if Y| (1.5 Balke AT | (1.2 Balke ARdi) | fEHELAHFFEHT
W25 EIR R - E AR
nE  ZEE, B
Al N dus N dus) Iy
1MH24\ | 11420 -
(bifE. kE) (1. 5 Ba/ke AT | (1.2 Ba/keAsim) | faEezc et
= et N )it
12A3H | 12430 ‘ ‘
(21| R Ath,) (1. 4 Ba/keATw) | (1.3 Ba/keRii) | fEEELHFZERT
T Kb R )1l
S S B
1ZATH 1ZATH (KRS : B IR (1.4B /91 Aii) | (1.1 Ba/keRii) | fEEEZRAFSERT
FERE  AEE) e e
= P P M
12H 180 | 12418\ \
(P23 )11 IR Ath) (1.4 Ba/keK0) | (1.4 Ba/keAi) | e TR

*MEORR, ERROBMIZT N TEOEEELT 2> THET,

* FHEELL T OISOV T,

ek

ITHEPR STV ETS,

[2%]
O RdnfiElE Lol P2 44 H 1 BD)
B v T LD EMEME
S ® % E
B b B HEANL : Bg (A Jvv) ke
— R b 100
HLIEHER 50
4 H 50
/€ 2TIN 10

<& b >
JINRE T 2806 2 B SRR R
ik 044—200—3296




